

an. 8)  $I = \int_0^1 \frac{e^{2x} + e^x - 3}{e^x + 1} dx = \int_1^e \frac{u^2 + u - 3}{u + 1} \frac{1}{u} du = \int_1^e \frac{u^2 + u - 3}{u^2 + u} du$

θίω  $u = e^x, du = e^x dx$

$$= \int_1^e \frac{u^2 + u}{u^2 + u} du - 3 \int_1^e \frac{1}{u(u+1)} du$$

an. 9) α)  $\int_0^{1/2} \frac{nx}{6u^2x + 46ux + 3} dx = - \int_1^0 \frac{1}{u^2 + 4u + 3} du = \int_0^1 \frac{1}{(u+3)(u+1)} du$

$u = 6ux \Rightarrow du = -6u dx$

(β)  $\int_0^{1/2} \frac{6ux}{3 + 6u^2x} dx = \int_0^{1/2} \frac{6ux}{3 + 1 - 6u^2x} dx = \int_0^1 \frac{1}{4 - u^2} du$

(γ)  $\int_0^{1/6} \frac{6u^2x + 1}{6u^2x - 1} dx = \int_0^{1/3} \frac{1}{u^2 - 1} du$  A(n. 10)  $\int_{1/6}^{1/2} \frac{1}{u+x} dx = \int_{1/6}^{1/2} \frac{u+x}{u^2x} dx =$

$u = 6u^2x, du = \frac{1}{6u^2x} dx = (1 + 6u^2x) dx$

$\frac{1}{u+x}$  βίω  $u = 6u^2x$   $\int_{1/6}^{1/2} \frac{u+x}{1 - 6u^2x} dx$

$\int_0^{1/3} \frac{1}{6u^2x} dx$

Adv. 12  $I_v = \int_0^{1/2} m\mu^v x dx$ .  $I_v = \frac{v-1}{v} \cdot I_{v-2}$

$$I_v = \int_0^{1/2} m\mu^v x dx = \int_0^{1/2} m\mu^{v-1} x \cdot m\mu x dx = - \int_0^{1/2} m\mu^{v-1} x \cdot (6\mu x)' dx =$$

$$= - \underbrace{\left[ m\mu^{v-1} x \cdot 6\mu x \right]_0^{1/2}}_{=0} + \int_0^{1/2} (v-1) \cdot m\mu^{v-2} \cdot 6\mu^2 x dx = (v-1) \cdot \int_0^{1/2} (m\mu^{v-2} x - m\mu^v x) dx =$$

$$= (v-1) I_{v-2} - (v-1) \cdot I_v$$

And  $I_v = (v-1) I_{v-2} - (v-1) \cdot I_v \Rightarrow$

$$v I_v = (v-1) I_{v-2} \Rightarrow \boxed{I_v = \frac{v-1}{v} \cdot I_{v-2}}$$

$$I_v = \int_0^1 m\mu^v x dx$$

$$I = \int_0^1 m\mu^5 x dx = \int_0^1 m\mu^4 x \cdot m\mu x dx =$$

$$= \int_0^1 (1 - 6\mu^2 x)^2 \cdot m\mu x dx$$

Equation:

$$I_8 = \frac{7}{8} I_6$$

$$I_6 = \frac{5}{6} I_4$$

$$I_4 = \frac{3}{4} I_2$$

$$I_2 = \frac{1}{2} I_0$$

$$I_8 \cdot I_6 \cdot I_4 \cdot I_2 = \frac{7}{8} \cdot \frac{5}{6} \cdot \frac{3}{4} \cdot \frac{1}{2} I_6 I_4 I_2 I_0$$

$$I_8 = \frac{35}{192} \cdot I_0$$

$$I_0 = \int_0^{1/2} dx = \frac{1}{2}$$

öbn. 14

$$I = \int_0^{n/2} \frac{x \cdot \cos x}{n \pi^2 x} dx = \int_{n/6}^{n/2} x \cdot \left(-\frac{1}{n \pi x}\right)' dx + \text{integral}$$

$$= \int_0^{n/2} x \frac{\cos x}{1 - \cos^2 x} dx \quad \text{2x2, 1, 2, 1, 2} \quad 1 - \cos^2 x = \sin^2 x \quad \int_0^a x \cdot f(n \pi x) dx = \frac{1}{2} \int_0^a f(n \pi x) dx$$

Arzuzararararar  $I = \int_a^b f(x) dx$   $\text{Diu } u = a + b - x \Rightarrow I = \int_b^a f(a + b - u) (-du)$   
 $x = a + b - u$

$\text{Diu } u = \frac{n}{2} - x$

$$I = \int_{n/2}^0 \frac{\left(\frac{n}{2} - u\right) \cdot \left(\cos\left(\frac{n}{2} - u\right)\right)}{n \pi^2 \left(\frac{n}{2} - u\right)} (-du) = \int_0^{n/2} \frac{\left(\frac{n}{2} - u\right) \sin u}{\cos^2 u} du =$$

$$= \int_0^{n/2} \frac{\frac{n}{2} \sin u}{\cos^2 u} du - \underbrace{\int_0^{n/2} \frac{\sin u}{\cos^2 u} du}_I \quad \text{Ard } 2I = \frac{n}{2} \int_0^{n/2} \frac{\sin u}{\cos^2 u} du$$